LIGNATUR'

A eft D02 = m *d* (I, poz + 30)

i mitpo2 = Pe po2/ 20

As poz2 = m*d*hepoo+ N * di ™ i mit o2

Sy,s,p02 = (m*d*hgpea?/ 2+ n*d * b mitpo2® / 2) / As poz

ly 5,002 = m *d *hgpos®/ 12+ m *d * hgpgo* (e poa/ 2 - Sy,s,Doz)2 +n* i * timipo2® / 12+ 0" di * i mitpoz * (tiimitpoz / 2 — Sy,s,Doz)2
Sy,p02 = m*d* Sy,S,D022 12+ n*d* ti mitpoz * (Sy.s,002 = tii,mit,po2 / 2)

Aw,po2 = m*d*l,spo2/ Sypoz

Opo2 = Pepo2/ h

ky.90,002 = MIN ( 5/ (h%%* ((apgz *(1 - Apgz ))*® + 0.8 * Iy poa/ 2/ 0 * (1/ apgz - 0ppz?)°%)) 5 1.0)
Ryzkpoz = MIN (Acefrpoz ™ Keoo ™ feox/ D 5 Awpoz ™ Kygopoz * fux/ b))

Ry 24,02 = Ry 2002 * Kmod/ Ym

Mit: Keoo=1; foook = 2.5 N/mm?; fyx= 2.0 N/mm?

Formeln Nachweise D02



